Plant Propagation Protocol for Mertensia bella ESRM 412 – Native Plant Production Spring 2022 URL: https://courses.washington.edu/esrm412/protocols/2022/MEBE

North America Distribution +Copyright (c) 2014 Esri | USDA-NRCS-NGCE & NPDT Powered by Esri Introduced Native Both Native, No County Data Introduced, No County Data Both, No County Data Source: USDA PLANTS Database



Source: USDA PLANTS Database

California Distribution

	TAXONOMY
Plant Family	
Scientific Name	Boraginaceae
Common Name	Borage Family
Species Scientific Name	
Scientific Name	Genus: Mertensia
	Species: <i>bella</i>
	Species Authority: Piper
Varieties	N/A
Sub-species	N/A
Cultivar	N/A
Common Synonym(s)	Mertensia siskiyouensis Applegate
Common Name(s)	Beautiful Bluebells, Oregon Lungwort ³ , Oregon
	Bluebells
Species Code (as per USDA Plants database)	MEBE
GENERAL INFORMATION	
Geographical range	North Western United States: California, Southwestern
	Oregon, northern Idaho, and northwestern Montana ⁸ .
	See maps above for distribution in North America and
	the U.S.
Ecological distribution	Wet, seepy, open or partially shaded slopes in the
	montane and subalpine zones, often in mesic, forb
	dominated communities or openings in spruce-fir forests ⁹ .
Climate and elevation range	Climate ³ :
Climate and elevation range	-Annual Precipitation: 74.1" - 105.3"
	-Summer Precipitation: 1.93" - 3.61"
	-Coldest Month: 38.3" - 39.2"
	-Hottest Month: 57.7" - 58.2"
	-Humidity: 2.29" - 12.25"
	Trainiardy: 2.29 T2.25
	Elevation: 1500-1800 m ⁸
Local habitat and abundance	Prefers wet meadows ⁸ and partially shaded mountain
	habitats ⁹ .
Plant strategy type / successional	I could not find its strategy type; Records indicate that
stage (stress-tolerator, competitor,	its flowers can be eaten raw and its leaves can be eaten
weedy/colonizer, seral, late	raw or cooked (however cooked is preferred) 4 .
successional)	
Plant characteristics	It is a perennial herb with solitary stems that grow from
	a bulb-like root, which
	ranges from 10-40 cm tall ⁹ .
	The leaves are ovate, thin, evidently
	veiny, and 38 cm long ⁹ .
	"The blue flowers are stalked and borne in open



inflorescences at the top of the stem and in the axils of the upper leaves"⁹. "The lower two-thirds of the 5 petals are united into a bell-shaped corolla that is 6-10 mm long"⁹.

The calyx is 2-3 mm long and sparsely hairy⁹. "The bell-shaped flowers lack a distinctly constricted lower tubular portion separate

lower tubular portion separate from a flaring upper portion"⁹; this distinguishes it from other *Mertensia* in the U.S.

It reproduces sexually through seeds⁴.

Photo credit³: © 2008 Gerald Carr CC-BY-NC 4.0

N/A
51
Plants
Seed
Could not find product type explicitly stated. However,
looking at protocols for
similar species, Mertensia virginica (L.) Pers. ex
Link ¹ and <i>Mertensia viridis</i> A.
Nels. ² , the product type is container (plug).
Could not find this information.
Could not find this information.
Wild, mature plants can grow up to between 0.7 - 1.6 ft
tall ³ .
Mertensia bella Piper flowers around May, June, and
July so seed collection would need to take place some
period of time after flowering.
Could not find this information for this specific
species, however another plant with the same genus
and same range distribution, Mertensia viridis A. Nels,
indicates that the inferred seed dormancy is
physiological dormancy ² . This may or may not apply to
Mertensia bella Piper. Seeds should be kept in cold
storage until ready to plant.
Seeds need to be treated for physiological dormancy if
it grows similarly to <i>Mertensia viridis</i> A. Nels.
Media type was not specified. However, since its ideal habitat is wet meadows and partially shaded
mountainous areas, soil conditions similar to that
would probably be best. Container: a pot, size was not
specified.
Could not find this information.
Could not find this information.

Active Growth Phase Could not find this information. Length of Active Growth Phase Could not find this information. Hardening Phase Could not find this information specifically. However, this plant will flower from May-July, and will become dormant again until its next flowering season ⁹ . Harvesting, Storage and Shipping Could not find this information. Length of Storage Seeds are best sown in a cold frame as soon as they are ripe ⁶ . Sow stored seed as early in the year as possible ⁶ . Protect them from direct sunlight ⁶ . Guidelines for Outplanting / When the seedlings are large enough to handle, put the seedlings out into individual pots and grow them in the greenhouse for at least their first winter ⁴ . Plant them out into their permanent positions in late spring or early summer, after the last expected frosts ⁴ . Other Comments There is very little propagation information and growth information to be found for this species as it is a more obscure plant with a very narrow habitat range. It is also labeled as a sensitive species ⁹ U.Swide by the USFS, thus more research into this plant would be beneficial. INFORMATION SOURCES References References See below for full reference list Other Sources Consulted Fukuda, T., & Ikeda, H. (2012). Palynological analysis and taxonomic position of The genus Mertensia (Boraginaceae). Botany, 90(8), 722+. https://cdnsciencepub-com.offcanpus.lib.washington.edu/doi/10.1139/b2012-024 Nazaire, M., & Hufford, L. (2014). Phylogenetic Systematics of the Genus Merten		
Hardening Phase Could not find this information. Length of Hardening Phase Could not find this information specifically. However, this plant will flower from May-July, and will become dormant again until its next flowering season ⁹ . Harvesting, Storage and Shipping Could not find this information. Length of Storage Seeds are best sown in a cold frame as soon as they are ripe ⁶ . Sow stored seed as early in the year as possible ⁶ . Protect them from direct sunlight ⁶ . Guidelines for Outplanting / Performance on Typical Sites When the seedlings are large enough to handle, put the seedlings out into individual pots and grow them in the greenhouse for at least their first winter ⁴ . Plant them out into their permanent positions in late spring or early summer, after the last expected frosts ⁴ . Other Comments There is very little propagation information and growth information to be found for this species as it is a more obscure plant with a very narrow habitat range. It is also labeled as a sensitive species ⁹ U.Swide by the USFS, thus more research into this plant would be beneficial. Deferences See below for full reference list Other Sources Consulted Fukuda, T., & Ikeda, H. (2012). Palynological analysis and taxonomic position of The genus Mertensia (Boraginaceae). Botany, 90(8), 722+. https://cdnscience.pub-com.offcampus.lib.washington.edu/doi/10.1139/b2012-024 Nazaire, M., & Hufford, L. (2014). Phylogenetic Systematics of the Genus Mertensia (Boraginaceae). Systematic Botany, 39(1), 268+. Protocol Author Emily Oh <td>Active Growth Phase</td> <td>Could not find this information.</td>	Active Growth Phase	Could not find this information.
Length of Hardening Phase Could not find this information specifically. However, this plant will flower from May-July, and will become dormant again until its next flowering season ⁹ . Harvesting, Storage and Shipping Could not find this information. Length of Storage Seeds are best sown in a cold frame as soon as they are ripe ⁶ . Sow stored seed as early in the year as possible ⁶ . Protect them from direct sunlight ⁶ . Guidelines for Outplanting / Performance on Typical Sites When the seedlings are large enough to handle, put the seedlings out into individual pots and grow them in the greenhouse for at least their first winter ⁴ . Plant them out into their permanent positions in late spring or early summer, after the last expected frosts ⁴ . Other Comments There is very little propagation information and growth information to be found for this species as it is a more obscure plant with a very narrow habitat range. It is also labeled as a sensitive species ⁹ U.Swide by the USFS, thus more research into this plant would be beneficial. INFORMATION SOURCES References See below for full reference list Other Sources Consulted Fukuda, T., & Rkeda, H. (2012). Palynological analysis and taxonomic position of The genus Mertensia (Boraginaceae). Botany, 90(8), 722+. https://cdnsciencepub-com.offcampus.lib.washington.edu/doi/10.1139/b2012-024 Nazaire, M., & Hufford, L. (2014). Phylogenetic Systematics of the Genus Mertensia (Boraginaceae). Systematic Botany, 39(1), 268+.		
this plant will flower from May-July, and will become dormant again until its next flowering season?.Harvesting, Storage and ShippingCould not find this information.Length of StorageSeeds are best sown in a cold frame as soon as they are ripe ⁶ . Sow stored seed as early in the year as possible ⁶ . Protect them from direct sunlight ⁶ .Guidelines for Outplanting / Performance on Typical SitesWhen the seedlings are large enough to handle, put the seedlings out into individual pots and grow them in the greenhouse for at least their first winter ⁴ . Plant them out into their permanent positions in late spring or early summer, after the last expected frosts ⁴ .Other CommentsThere is very little propagation information and growth information to be found for this species as it is a more obscure plant with a very narrow habitat range. It is also labeled as a sensitive species ⁹ U.Swide by the USFS, thus more research into this plant would be beneficial.INFORMATION SOURCESReferencesSee below for full reference listOther Sources ConsultedFukuda, T., & Ikeda, H. (2012). Palynological analysis and taxonomic position of The genus Mertensia (Boraginaceae). Botany, 90(8), 722+. https://cdnsciencepub- com.offcampus.lib.washington.edu/doi/10.1139/b2012- 0224Nazaire, M., & Hufford, L. (2014). Phylogenetic Systematics of the Genus Mertensia (Boraginaceae). Systematic Botany, 39(1), 268+.Protocol AuthorEmily Oh	v	
dormant again until its next flowering season ⁹ . Harvesting, Storage and Shipping Could not find this information. Length of Storage Seeds are best sown in a cold frame as soon as they are ripe ⁶ . Sow stored seed as early in the year as possible ⁶ . Protect them from direct sunlight ⁶ . Guidelines for Outplanting / Performance on Typical Sites When the seedlings are large enough to handle, put the seedlings out into individual pots and grow them in the greenhouse for at least their first winter ⁴ . Plant them out into their permanent positions in late spring or early summer, after the last expected frosts ⁴ . Other Comments There is very little propagation information and growth information to be found for this species as it is a more obscure plant with a very narrow habitat range. It is also labeled as a sensitive species ⁹ U.Swide by the USFS, thus more research into this plant would be beneficial. References See below for full reference list Other Sources Consulted Fukuda, T., & Ikeda, H. (2012). Palynological analysis and taxonomic position of The genus Mertensia (Boraginaceae). Botany, 90(8), 722+. https://cdnsciencepub-com.offcampus.lib.washington.edu/doi/10.1139/b2012-024 Nazaire, M., & Hufford, L. (2014). Phylogenetic Systematic Botany, 39(1), 268+. Protocol Author Emily Oh	Length of Hardening Phase	
Harvesting, Storage and ShippingCould not find this information.Length of StorageSeeds are best sown in a cold frame as soon as they are ripe ⁶ . Sow stored seed as early in the year as possible ⁶ . Protect them from direct sunlight ⁶ .Guidelines for Outplanting / Performance on Typical SitesWhen the seedlings are large enough to handle, put the seedlings out into individual pots and grow them in the greenhouse for at least their first winter ⁴ . Plant them out into their permanent positions in late spring or early summer, after the last expected frosts ⁴ .Other CommentsThere is very little propagation information and growth information to be found for this species as it is a more obscure plant with a very narrow habitat range. It is also labeled as a sensitive species ⁹ U.Swide by the USFS, thus more research into this plant would be beneficial.ReferencesSee below for full reference listOther Sources ConsultedFukuda, T., & Ikeda, H. (2012). Palynological analysis and taxonomic position of The genus Mertensia (Boraginaceae). Botany, 90(8), 722+. https://cdnsciencepub- com.offcampus.lib.washington.edu/doi/10.1139/b2012- 024Protocol AuthorEmily Oh		
Length of Storage Seeds are best sown in a cold frame as soon as they are ripe ⁶ . Sow stored seed as early in the year as possible ⁶ . Protect them from direct sunlight ⁶ . Guidelines for Outplanting / Performance on Typical Sites When the seedlings are large enough to handle, put the seedlings out into individual pots and grow them in the greenhouse for at least their first winter ⁴ . Plant them out into their permanent positions in late spring or early summer, after the last expected frosts ⁴ . Other Comments There is very little propagation information and growth information to be found for this species as it is a more obscure plant with a very narrow habitat range. It is also labeled as a sensitive species ⁹ U.Swide by the USFS, thus more research into this plant would be beneficial. INFORMATION SOURCES References See below for full reference list Other Sources Consulted Fukuda, T., & Ikeda, H. (2012). Palynological analysis and taxonomic position of The genus Mertensia (Boraginaceae). Botany, 90(8), 722+. https://cdnsciencepub-com.offcampus.lib.washington.edu/doi/10.1139/b2012-024 Nazaire, M., & Hufford, L. (2014). Phylogenetic Systematics of the Genus <i>Mertensia</i> (Boraginaceae). Systematic Botany, 39(1), 268+. Protocol Author Emily Oh		
ripe ⁶ . Sow stored seed as early in the year as possible ⁶ . Protect them from direct sunlight ⁶ . Guidelines for Outplanting / Performance on Typical Sites When the seedlings are large enough to handle, put the seedlings out into individual pots and grow them in the greenhouse for at least their first winter ⁴ . Plant them out into their permanent positions in late spring or early summer, after the last expected frosts ⁴ . Other Comments There is very little propagation information and growth information to be found for this species as it is a more obscure plant with a very narrow habitat range. It is also labeled as a sensitive species ⁹ U.Swide by the USFS, thus more research into this plant would be beneficial. INFORMATION SOURCES References See below for full reference list Other Sources Consulted Fukuda, T., & Ikeda, H. (2012). Palynological analysis and taxonomic position of The genus Mertensia (Boraginaceae). Botany, 90(8), 722+. https://cdnsciencepub- com.offcampus.lib.washington.edu/doi/10.1139/b2012- 024 Nazaire, M., & Hufford, L. (2014). Phylogenetic Systematics of the Genus Mertensia (Boraginaceae). Systematic Botany, 39(1), 268+. Protocol Author Emily Oh		
seed as early in the year as possible ⁶ . Protect them from direct sunlight ⁶ .Guidelines for Outplanting / Performance on Typical SitesWhen the seedlings are large enough to handle, put the seedlings out into individual pots and grow them in the greenhouse for at least their first winted ⁴ . Plant them out into their permanent positions in late spring or early summer, after the last expected frosts ⁴ .Other CommentsThere is very little propagation information and growth information to be found for this species as it is a more obscure plant with a very narrow habitat range. It is also labeled as a sensitive species ⁹ U.Swide by the USFS, thus more research into this plant would be beneficial.INFORMATION SOURCESReferencesSee below for full reference listOther Sources ConsultedFukuda, T., & Ikeda, H. (2012). Palynological analysis and taxonomic position of The genus Mertensia (Boraginaceae). Botany, 90(8), 722+. https://cdnsciencepub- com.offcampus.lib.washington.edu/doi/10.1139/b2012- 024Nazaire, M., & Hufford, L. (2014). Phylogenetic Systematics of the Genus Mertensia (Boraginaceae). Systematic Botany, 39(1), 268+.Protocol AuthorEmily Oh	Length of Storage	
direct sunlight ⁶ .Guidelines for Outplanting / Performance on Typical SitesWhen the seedlings are large enough to handle, put the seedlings out into individual pots and grow them in the greenhouse for at least their first winter ⁴ . Plant them 		-
Performance on Typical Sitesseedlings out into individual pots and grow them in the greenhouse for at least their first winter ⁴ . Plant them out into their permanent positions in late spring or early summer, after the last expected frosts ⁴ .Other CommentsThere is very little propagation information and growth information to be found for this species as it is a more obscure plant with a very narrow habitat range. It is also labeled as a sensitive species ⁹ U.Swide by the USFS, thus more research into this plant would be beneficial.Information SOURCESSee below for full reference listOther Sources ConsultedFukuda, T., & Ikeda, H. (2012). Palynological analysis and taxonomic position of The genus Mertensia (Boraginaceae). Botany, 90(8), 722+. https://cdnsciencepub- com.offcampus.lib.washington.edu/doi/10.1139/b2012- 024Nazaire, M., & Hufford, L. (2014). Phylogenetic Systematics of the Genus Mertensia (Boraginaceae). Systematic Botany, 39(1), 268+.Protocol AuthorEmily Oh		
Performance on Typical Sitesseedlings out into individual pots and grow them in the greenhouse for at least their first winter ⁴ . Plant them out into their permanent positions in late spring or early summer, after the last expected frosts ⁴ .Other CommentsThere is very little propagation information and growth information to be found for this species as it is a more obscure plant with a very narrow habitat range. It is also labeled as a sensitive species ⁹ U.Swide by the USFS, thus more research into this plant would be beneficial.Information SOURCESSee below for full reference listOther Sources ConsultedFukuda, T., & Ikeda, H. (2012). Palynological analysis and taxonomic position of The genus Mertensia (Boraginaceae). Botany, 90(8), 722+. https://cdnsciencepub- com.offcampus.lib.washington.edu/doi/10.1139/b2012- 024Nazaire, M., & Hufford, L. (2014). Phylogenetic Systematics of the Genus Mertensia (Boraginaceae). Systematic Botany, 39(1), 268+.Protocol AuthorEmily Oh	Guidelines for Outplanting /	When the seedlings are large enough to handle, put the
out into their permanent positions in late spring or early summer, after the last expected frosts4.Other CommentsThere is very little propagation information and growth information to be found for this species as it is a more obscure plant with a very narrow habitat range. It is also labeled as a sensitive species9 U.Swide by the USFS, thus more research into this plant would be beneficial.INFORMATION SOURCESReferencesSee below for full reference listOther Sources ConsultedFukuda, T., & Ikeda, H. (2012). Palynological analysis and taxonomic position of The genus Mertensia (Boraginaceae). Botany, 90(8), 722+. https://cdnsciencepub- com.offcampus.lib.washington.edu/doi/10.1139/b2012- 024Nazaire, M., & Hufford, L. (2014). Phylogenetic Systematics of the Genus Mertensia (Boraginaceae). Systematic Botany, 39(1), 268+.Protocol AuthorEmily Oh		
summer, after the last expected frosts ⁴ .Other CommentsThere is very little propagation information and growth information to be found for this species as it is a more obscure plant with a very narrow habitat range. It is also labeled as a sensitive species ⁹ U.Swide by the USFS, thus more research into this plant would be beneficial.INFORMATION SOURCESReferencesSee below for full reference listOther Sources ConsultedFukuda, T., & Ikeda, H. (2012). Palynological analysis and taxonomic position of The genus Mertensia (Boraginaceae). Botany, 90(8), 722+. https://cdnsciencepub- com.offcampus.lib.washington.edu/doi/10.1139/b2012- 024Nazaire, M., & Hufford, L. (2014). Phylogenetic Systematics of the Genus Mertensia (Boraginaceae). Systematic Botany, 39(1), 268+.Protocol AuthorEmily Oh		greenhouse for at least their first winter ⁴ . Plant them
Other CommentsThere is very little propagation information and growth information to be found for this species as it is a more obscure plant with a very narrow habitat range. It is also labeled as a sensitive species ⁹ U.Swide by the USFS, thus more research into this plant would be beneficial. INFOR WATION SOURCES ReferencesSee below for full reference listOther Sources ConsultedFukuda, T., & Ikeda, H. (2012). Palynological analysis and taxonomic position of The genus Mertensia (Boraginaceae). Botany, 90(8), 722+. https://cdnsciencepub- com.offcampus.lib.washington.edu/doi/10.1139/b2012- 024Nazaire, M., & Hufford, L. (2014). Phylogenetic Systematics of the Genus Mertensia (Boraginaceae). Systematic Botany, 39(1), 268+.Protocol AuthorEmily Oh		
information to be found for this species as it is a more obscure plant with a very narrow habitat range. It is also labeled as a sensitive species9 U.Swide by the USFS, thus more research into this plant would be beneficial.INFORMATION SOURCESReferencesSee below for full reference listOther Sources ConsultedFukuda, T., & Ikeda, H. (2012). Palynological analysis and taxonomic position of The genus Mertensia (Boraginaceae). Botany, 90(8), 722+. https://cdnsciencepub- com.offcampus.lib.washington.edu/doi/10.1139/b2012- 024Nazaire, M., & Hufford, L. (2014). Phylogenetic Systematics of the Genus Mertensia (Boraginaceae). Systematic Botany, 39(1), 268+.Protocol AuthorEmily Oh		summer, after the last expected frosts ⁴ .
obscure plant with a very narrow habitat range. It is also labeled as a sensitive species9 U.Swide by the USFS, thus more research into this plant would be beneficial.INFORMATION SOURCESReferencesSee below for full reference listOther Sources ConsultedFukuda, T., & Ikeda, H. (2012). Palynological analysis and taxonomic position of The genus Mertensia (Boraginaceae). Botany, 90(8), 722+. https://cdnsciencepub- com.offcampus.lib.washington.edu/doi/10.1139/b2012- 024Nazaire, M., & Hufford, L. (2014). Phylogenetic Systematics of the Genus Mertensia (Boraginaceae). Systematic Botany, 39(1), 268+.Protocol AuthorEmily Oh	Other Comments	
also labeled as a sensitive speciesU.Swide by the USFS, thus more research into this plant would be beneficial.INFORMATION SOURCESReferencesSee below for full reference listOther Sources ConsultedFukuda, T., & Ikeda, H. (2012). Palynological analysis and taxonomic position of The genus Mertensia (Boraginaceae). Botany, 90(8), 722+. https://cdnsciencepub- com.offcampus.lib.washington.edu/doi/10.1139/b2012- 024Nazaire, M., & Hufford, L. (2014). Phylogenetic Systematics of the Genus Mertensia (Boraginaceae). Systematic Botany, 39(1), 268+.Protocol AuthorEmily Oh		
USFS, thus more research into this plant would be beneficial.INFORMATION SOURCESReferencesSee below for full reference listOther Sources ConsultedFukuda, T., & Ikeda, H. (2012). Palynological analysis and taxonomic position of The genus Mertensia (Boraginaceae). Botany, 90(8), 722+. https://cdnsciencepub- com.offcampus.lib.washington.edu/doi/10.1139/b2012- 024Nazaire, M., & Hufford, L. (2014). Phylogenetic Systematics of the Genus Mertensia (Boraginaceae). Systematic Botany, 39(1), 268+.Protocol AuthorEmily Oh		
beneficial.INFOR MATION SOURCESReferencesSee below for full reference listOther Sources ConsultedFukuda, T., & Ikeda, H. (2012). Palynological analysis and taxonomic position of The genus Mertensia (Boraginaceae). Botany, 90(8), 722+. https://cdnsciencepub- com.offcampus.lib.washington.edu/doi/10.1139/b2012- 024Nazaire, M., & Hufford, L. (2014). Phylogenetic Systematics of the Genus Mertensia (Boraginaceae). Systematic Botany, 39(1), 268+.Protocol AuthorEmily Oh		
INFOR MATION SOURCESReferencesSee below for full reference listOther Sources ConsultedFukuda, T., & Ikeda, H. (2012). Palynological analysis and taxonomic position of The genus Mertensia (Boraginaceae). Botany, 90(8), 722+. https://cdnsciencepub- com.offcampus.lib.washington.edu/doi/10.1139/b2012- 024Nazaire, M., & Hufford, L. (2014). Phylogenetic Systematics of the Genus Mertensia (Boraginaceae). Systematic Botany, 39(1), 268+.Protocol AuthorEmily Oh		
ReferencesSee below for full reference listOther Sources ConsultedFukuda, T., & Ikeda, H. (2012). Palynological analysis and taxonomic position of The genus Mertensia (Boraginaceae). Botany, 90(8), 722+. https://cdnsciencepub- com.offcampus.lib.washington.edu/doi/10.1139/b2012- 024Nazaire, M., & Hufford, L. (2014). Phylogenetic Systematics of the Genus Mertensia (Boraginaceae). Systematic Botany, 39(1), 268+.Protocol AuthorEmily Oh		
Other Sources ConsultedFukuda, T., & Ikeda, H. (2012). Palynological analysis and taxonomic position of The genus Mertensia (Boraginaceae). Botany, 90(8), 722+. https://cdnsciencepub- com.offcampus.lib.washington.edu/doi/10.1139/b2012- 024Nazaire, M., & Hufford, L. (2014). Phylogenetic Systematics of the Genus Mertensia (Boraginaceae). Systematic Botany, 39(1), 268+.Protocol AuthorEmily Oh	INFORMATION SOURCES	
and taxonomic position of The genus Mertensia (Boraginaceae). Botany, 90(8), 722+. https://cdnsciencepub- com.offcampus.lib.washington.edu/doi/10.1139/b2012- 024Nazaire, M., & Hufford, L. (2014). Phylogenetic Systematics of the Genus Mertensia (Boraginaceae). Systematic Botany, 39(1), 268+.Protocol AuthorEmily Oh	References	See below for full reference list
(Boraginaceae). Botany, 90(8), 722+.https://cdnsciencepub- com.offcampus.lib.washington.edu/doi/10.1139/b2012- 024Nazaire, M., & Hufford, L. (2014). Phylogenetic Systematics of the Genus Mertensia (Boraginaceae). Systematic Botany, 39(1), 268+.Protocol AuthorEmily Oh	Other Sources Consulted	Fukuda, T., & Ikeda, H. (2012). Palynological analysis
https://cdnsciencepub- com.offcampus.lib.washington.edu/doi/10.1139/b2012- 024Nazaire, M., & Hufford, L. (2014). Phylogenetic Systematics of the Genus Mertensia (Boraginaceae). Systematic Botany, 39(1), 268+.Protocol AuthorEmily Oh		and taxonomic position of The genus Mertensia
com.offcampus.lib.washington.edu/doi/10.1139/b2012- 024Nazaire, M., & Hufford, L. (2014). Phylogenetic Systematics of the Genus Mertensia (Boraginaceae). Systematic Botany, 39(1), 268+.Protocol AuthorEmily Oh		
024 Nazaire, M., & Hufford, L. (2014). Phylogenetic Systematics of the Genus Mertensia (Boraginaceae). Systematic Botany, 39(1), 268+. Protocol Author Emily Oh		
Nazaire, M., & Hufford, L. (2014). Phylogenetic Systematics of the Genus Mertensia (Boraginaceae). Systematic Botany, 39(1), 268+. Protocol Author Emily Oh		com.offcampus.lib.washington.edu/doi/10.1139/b2012-
Systematics of the Genus Mertensia (Boraginaceae). Systematic Botany, 39(1), 268+.Protocol AuthorEmily Oh		024
Mertensia (Boraginaceae). Systematic Botany, 39(1), 268+. Protocol Author Emily Oh		
268+. Protocol Author Emily Oh		Systematics of the Genus
Protocol Author Emily Oh		Mertensia (Boraginaceae). Systematic Botany, 39(1),
Date Protocol Created or Updated 06/10/22	Protocol Author	Emily Oh
	Date Protocol Created or Updated	06/10/22

References:

 Baskin, Jerry M., Baskin, Carol C.. 2002. Propagation protocol for production of Container (plug) *Mertensia virginica* (L.) Pers. ex Link plants University of Kentucky Lexington, Kentucky. In: Native Plant Network. URL: <u>https://NativePlantNetwork.org</u> (accessed 2022/05/04). US Department of Agriculture, Forest Service, National Center for Reforestation, Nurseries, and Genetic Resources.

- Baskin, Jerry M., Baskin, Carol C.. 2002. Propagation protocol for production of Container (plug) *Mertensia viridis* A. Nels. plants University of Kentucky Lexington, Kentucky. In: Native Plant Network. URL: <u>https://NativePlantNetwork.org</u> (accessed 2022/05/03). US Department of Agriculture, Forest Service, National Center for Reforestation, Nurseries, and Genetic Resources.
- 3. California Native Plant Society. (n.d.). "Oregon Lungwort/Mertensia bella" https://calscape.org/Mertensia-bella-()
- 4. Fern, K. (2021). Temperate Plants Database. Accessed on May 4, 2022 from https://temperate.theferns.info/plant/Mertensia+bella#:~:text=Propagation%20Seed%20-%20best%20sown%20in%20a%20cold,seed%20as%20early%20in%20the%20year%20a s%20possible.
- 5. Global Biodiversity Information Facility. (n.d.). "*Mertensia bella* Piper". https://www.gbif.org/species/5341215
- 6. Huxley, A. (1992). The New RHS Dictionary of Gardening. MacMillan Press.
- 7. Hitchcock, C. (1955). *Vascular plants of the Pacific Northwest* (University of Washington publications in biology ; v. 17). Seattle: University of Washington Press.
- Kelley, Ronald B. & Elaine Joyal, Elaine. (2012). *Mertensia bella*, in Jepson Flora Project (eds.) Jepson eFlora. Accessed on May 03, 2022 from <u>https://ucjeps.berkeley.edu/eflora/eflora_display.php?tid=33316</u>
- Montana Field Guide. Montana Natural Heritage Program. (n.d.). "Oregon Bluebells Mertensia bella". Accessed on May 3, 2022, from <u>https://FieldGuide.mt.gov/speciesDetail.aspx?elcode=PDBOR0N040</u>
- Nazaire, M., Wang, X.-Q., & Hufford, L. (2014). Geographic origins and patterns of radiation of *Mertensia* (Boraginaceae). *American Journal of Botany*, 101(1), 104–118. <u>http://www.jstor.org/stable/23596855</u>
- 11. Olmstead, R.G., Chalker-Scott, L., & Kruckeberg, A.R. (2019). *Gardening with Native Plants of the Pacific Northwest*. (Third Edition ed.). Seattle: University of Washington Press.
- 12. Roe, L. (n.d.). Status review of *Mertensia bella*, U.S.D.A. Forest Service, Region 1, Lolo National Forest, Montana. Montana Natural Heritage Program. <u>https://www.biodiversitylibrary.org/item/259639#page/13/mode/1up</u>
- 13. USDA Plants Database. (n.d.). "*Mertensia bella* Piper". <u>https://plants.usda.gov/home/plantProfile?symbol=MEBE</u>